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Induction

= OED (Oxford English Dictionary)
= the process of inferring a general law or printciple
from the observations of particular instances
. inductive inference
= inductive reasoning the process of reassigning
a probability (or credibility) to a law or proposition
from the observation of particular events
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. Epicurus

=6 = If more than one theory is consistent with
-3 the observations, keep all theories
.2 3 (Principle of Multiple Explanations).
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Occam Isaac Newton

= Entities should not be multiplied beyond necessity.

= Bertrand Russell

= It is vain to do with more what can be done with
fewer.

= Among the theories that are consistent with the
observed phenomena, one should select the
simplest theory.

= We are to admit no more causes of
natural things than such as are both
true and sufficient to explain the
appearances. To this purpose the
philosophers say that Nature does
nothing in vain, and more is in vain
when less will serve; for Nature is
pleased with simplicity, and affects not
the pomp of superfluous causes.
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= AIC: an information criterion (Akaike's ....

= MDL: minimum description length
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= Thomas Mitchell, Machine L earning, M cGraw-Hill.

= Stuart Russell, Peter Norvig,

= Artificial Intelligence: A Modern Approach (2 edition),
Prentice Hall

» http://www.sakurai.comp.ae.keio.ac.jp/




